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Calcul mental

Multiplier par...
20, 30, 40, 50, ..., 200, 300, 400, 500...

Entrâınement 1
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20 × 7

40 × 8

5 × 12 200 × 4

50 × 9 400 × 13
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Prenez votre stylo vert...
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Calcul mental

Multiplier par 20, 30...

Entrâınement 2
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30 × 22

50 × 12 5 × 46

40 × 31 500 × 28
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Prenez votre stylo vert...
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50 × 12 = 600 5 × 46 = 230

40 × 31 = 1 240 500 × 28 = 14 000
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Calcul mental

Multiplier par 20, ...

Entrâınement 3
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20 × 25

400 × 41

50 × 96 40 × 16

500 × 32 30 × 8
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Prenez votre stylo vert...
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20 × 25

= 500 400 × 41 = 16 400

50 × 96 = 4 800 40 × 16 = 640

500 × 32 = 16 000 30 × 8 = 240
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20 × 25 = 500 400 × 41 = 16 400

50 × 96 = 4 800 40 × 16 = 640

500 × 32 = 16 000 30 × 8 = 240
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Calcul mental

Multiplier par 20, ...

Entrâınement 4
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20 × 63

40 × 24

5 × 84 200 × 46

50 × 25 400 × 73
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Prenez votre stylo vert...
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Calcul mental

Multiplier par 20, ...

Test
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500 × 32 30 × 8

50 × 12 5 × 46

200 × 56 300 × 53
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Posez votre stylo et faites passer vos feuilles devant...
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20 × 7

= 140 40 × 8 = 320

50 × 25 = 1 250 400 × 73 = 29 200

500 × 32 = 16 000 30 × 8 = 240

50 × 12 = 600 5 × 46 = 230

200 × 56 = 11 200 300 × 53 = 15 900
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20 × 7 40 × 8

50 × 25 400 × 73

500 × 32 30 × 8

50 × 12 5 × 46

200 × 56 300 × 53


